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Please check that this question paper contains 10 printed pages + 1 Map.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.
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question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

(1) Answer all the questions. Some questions have internal choice. Marks are
indicated against each question.

(2) Answer to question nos. 1 to 3 carrying 2 marks should not exceed 30 words each.

(3) Answer to question nos. 4 to 9 carrying 4 marks should not exceed 100 words.
Students should attempt only 5 questions in this section.

(4) Question 10 (for 4 marks) is a value based question and compulsory question.
(5) Answer to question nos. 11 to 13 carrying 8 marks should not exceed 350 words.
(6) Questions 14 to 16 are source based questions and have no internal choice.

(7) Question 17 is a Map question that includes identification and location of
significant test items. Attach the map with the answer sheet.
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Answer all the questions given below :

1. “Egw el ¥ e v, fae9ie Gepla & o & S ST 3 g M=Tand Tehe
FA & |7 T I H G A AT & SAER T BT | 2

“The burials in Harappan sites reveal the economic and social differences amongst the
people living within a particular culture.” Give two evidences in support of your

answer.

2. U YRA H Y @HE & IR H a3 1 Ok = o7 2 W Hif | 2
Examine why Bernier was against the idea of crown ownership of land in Mughal
India.

3. ST § SEERE SIS o 9% g 9 STHISTET i s &1 TE 2§ HROT T | 2

Why were many Zamindaris auctioned after the Permanent Settlement in Bengal ?
Give two reasons.
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SECTION -1

frfafad # & fF=l utar Tt o 3R A 4x5=20

Answer any five of the following questions :

4.  ETWN D TAT F U B WL FA o [T DI T W1eF U [hT T & 2 4

What evidences have been put forward to explain the collapse of the Harappan

Civilization ?

5. HIE 9T % giaerd st TRET o (o0 SieraehRl §RT e 5T T i s W iy | 4

Explain the sources used by historians to reconstruct the history of Mauryan Empire.

6. ‘FHER UEA 3R ST ff I @ o feIT ION B FG € S G B @IS § WigaR] AHISTR
GE3T 3R foaRl i Te-are® g @ 3@ § | W HT | 2+2=4

‘Kabir was and is to the present a source of inspiration for those who questioned

entrenched social institutions and ideas in their search for divine.” Explain.

7. ST OeRl §IT SIS A W Wl fafg J-SIdra 9T G SRl | Waeges bl St
ot |” =G SEYeT | 4

“The nobility was recruited consciously by the Mughal rulers from diverse ethnic and

religious groups.” Justify.

8. 37 uRfeafaal = v Fifsw, e 1859 H 3isT &t “URETH FIA ST | 4

Examine the circumstances that led to the passing of ‘Limitation Laws’ by the British
in 1859.
61/1/1 3 [P.T.O.



9. 1857 & foagifEat o s Uehdar ©nfud o= & T S @ik ST0HT 0 3 SO hifeg | 4

Highlight the measures taken to ensure unity among the rebels of 1857.

FTHET - 11
SECTION - 11
e TR U9 (A1)

Value Based Question (Compulsory) 4x1=4

10. feAfaRad =% Sl TS ST SR 39k A ST T g & 3R fofan

“AVhei T HECAAT % TTT Ao ol STTCHRIG bl AT T UIITEI0T AT 8N | Atk | AT
I IO oIT 5 2 3R % Forw s sk el =fe | 7t wied fear % forw &g stre e
T | ORt e shaet W59 W higd i1 F1eT | A1 ohdl Tiieha | 3117 Wiqedel e 3@ 3d €
T UGl HEET el A Id & N hiT Al a1 GUE 310 31UeT W AHI A Bl S
TeTR A7 317 Tl bl SRT ot RATE &1 BT, aF TH Al BT GaT Hrvea & 17

TR T T ST & T W U A 297 % M A # S ged 81 ey, 3%
ISR T |

Read the following passage and answer the question that follows :

“For the success of democracy one must train oneself in the art of self discipline. In
democracies one should care less for himself and more for others. There can’t be any
divided loyalty. All loyalties must exclusively be centered round the state. If in a
democracy, you create rival loyalties or you create a system in which any individual or
a group, instead of suppressing his extravagance cares not for larger or other interests,

then democracy is doomed.”

In the light of the above passage highlight the values which a loyal citizen of a

democratic country should uphold.
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Long Answer Questions

8§x3=24

e TS T |t HRAT o S AT

Answer all the questions given below :

11.  “wervRd ST, foare qon fugefers o T Fe & 1 39 F2F B TG SIS |
et

“URAT SUHETRIT H fafareranati & sRoT gden @ & el % et tH w S 600 T, ¥ 600
3. T STRIo faamt & wiferd et g2 off 17 oM ol IR HiT |

“The Mahabharata is a story of kinship, marriages and patriliny.” Examine the

statement.
OR

“Because of the diversity of the Indian subcontinent there have always been
populations whose social practices were not influenced by the Brahminical ideas
during 600 BCE - 600 CE.” Examine the statement.

12. fOSER GHST % TSTehd 5 § a1 HeHaH! fes & A S ST 3 mera &
TEEM HIT |

AT

FoRTaTR | o TSTohid g | TaouTe] HisY a9 fagee HieY i i forera & e
HITT | 5+3=8

Identify the rituals and practices associated with the Mahanavami Dibba, a structure in

the Royal Centre of Vijayanagara Empire.
OR

Outline the distinctive features of the Virupaksha temple and the Vitthala temple in the

Royal Centre of Vijayanagara Empire.
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13.  STEeNT STRIe = TS bl Teh T el he WK SH1ET 2 T HifoTT |
rerar

Fo a5 U6 T A & o WRA ol SeaRT U |iRIae Tt 6 aitad o or 2 we
T |

Explain how Non-Cooperation Movement made Gandhiji a national leader.
OR

Explain why some scholars see partition of India as the culmination of communal
politics.

qug -
PART -D
(AT TR T¥7)
(Source Based Questions) Tx3=21

o o

14, FeAfefad 3ER0T FT QEErges® e HiT X 39 e KT T qe= o 3¢ fefau
WE % AR i AT

S TF h IUTN Bl STh BT = Ghfera fohar o9 & TereR o oAt | o | st A
U FRIA F T H I U ST & S 3T AN B SR Hd 4 | TS ST
IR GF AHE UH U2 § {o1an T € | 09 FHHAS AT U FeRF! 30 fd i
T i o foTg W @ €

3R |YUT fovel 3R ot o T @9 RN &1 S0 ad ff g ST Fel 8, 7 8 AE
IR S T T91 U | & TSH | 516 TRRI Jog &Rt 317 516 IR o7 0 B e a9 [E
g6 B, 3R T W T, TR T HAN | 5 T Fafean o) § TR ol & o & 4 39
AR § AR HAl § | | Trel-aed S 7 S 6 g @, 961 oy S wmear F i
T 59 & weh WA il wRg Sia s,

519 @ 5 g@ 7 ST b SH @ A1 €, o1 hl ok WHT A &, STer B B
T TaeTet 59 &1 UReanT ... 5T e ¥ A arer, Fehm sTaiuEr A, dereerd

(14.1) 5 3R HeER & ST Hl fha Fehfera fopam 2 2
(14.2) HERHT 3 310 Ui o T o & {oIT {69 Uehre 9o 2 2
(14.3) < g9 & fomel A fagT=i 1 U HIT | 3
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Read the following excerpt carefully and answer the questions that follow :

The world beyond the palace
Just as the Buddha’s teachings were compiled by his followers, the teachings of
Mahavira were also recorded by his disciples. These were often in the form of stories,
which could appeal to ordinary people. Here is one example, from a Prakrit text known
as the Uttaradhyayana Sutta, describing how a queen named Kamalavati tried to
persuade her husband to renounce the world :
If the whole world and all its treasures were yours, you would not be satisfied, nor
would all this be able to save you. When you die, O king and leave all things behind,
dhamma alone, and nothing else, will save you. As a bird dislikes the cage, so do I
dislike (the world). I shall live as a nun without offspring, without desire, without the
love of gain, and without hatred....
Those who have enjoyed pleasures and renounced them, move about like the wind,
and go wherever they please, unchecked like birds in their flight ...
Leave your large kingdom ... abandon what pleases the senses, be without attachment
and property, then practice severe penance, being firm of energy ...
(14.1) Who compiled the teachings of Buddha and Mahavira ?
(14.2) Explain how did the queen try to convince her husband to renounce the world.
(14.3) Describe any three principles of Jainism.

FrAfeiEd 35307 Sl WEEMHgds Uy X 39 A< i T yeAl o 3w fefan |

TE AERAMT F foram T U A9 & S G & 39 SUHON F aR H ader § S 3H
TEIME A ST 9RA | 3G

QT & oo 1 SARICR 68T HIH FH U o1 g7 & | gletith J8r I 3 St
oI THE Sl Jgamad €, sk el ot Sed Ul (FT gasi) ... J ... 6 wEe
I AT AETHT 6 T T ol foersher S 81 & | ¥RE ] b Hel SIeer o Ot | OeT &
STt & 31 3 &4 <l ST € foh S g Bt el af de off U=T & Sl € S ey foerser &
Fel gt | (TR oft) BI ISl o STerfedt a1 @S & ARSI T ST €. ..

TER, ST (ST & 37T & Tk ) 3] UHl g&dt Sl 9¥ i @ % Sikd
fame o € 1 3 W % 3 MATRR He ST & ST S Bt TERTE o HoIaeh ofdl Bid § | 37 Al
T ISl El g W TThel o e o ¢ 31 37 Teohl W I8 1Y Id & | TTohgl o Teeht
3R Tl | dd 3 A B P F FW Ued § AeHAN A § | Ued H PN W TH 3R
ufean | 39 iy ufed w9t % IRY TART A & 39 Ul & I I H A ufed & I
H THE i ¢ 3T T TWE TSI AN Uedl A oI § | TSl 9 SRl g FRaT §, 9% uh
TR AT WIS T STl & 3R 30 aRies | & S8 U agama ST € |

TR, digeR X TAMT (3T & ST TS H) | i UH 37 ofrehl § off, SmamT
reAfedt ¥ FHaE FA § | U & AR W I Ahel & F ME d &, T FAl & ad dot
fohr €, U St STetet § TEA ST &, T o Aol WX e € 31K 9% §EX B i ot 9
St I € | Uk I Wl oot T ISl 8, SO Seiet | O (Hehrerdr € |
(15.1) SO 5RT 39 i 7T [G=me Urenfient st SAmen iy |
(15.2) T&=s i avashar = o 2
(15.3) 9T H P % TR o o0 ST feheel i hRehl bl ST HITT |
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Read the following extract carefully and answer the questions that follow :

Irrigating trees and fields

This is an excerpt from the Baburnama that describes the irrigation devices the

emperor observed in Northern India :

The greater part of Hindustan country is situated on level land. Many though its towns
and cultivated lands are, it nowhere has running waters ... For ... water is not at all a
necessity in cultivating crops and orchards. Autumn crops grow by the downpour of
the rains themselves; and strange it is that spring crops grow even when no rains fall.
(However) to young trees water is made to flow by means of buckets or wheels ....

In Lahore, Dipalpur (both in present-day Pakistan) and those other parts, people water
by means of a wheel. They make two circles of rope long enough to suit the depths of
the well, fix strips of wood between them, and on these fasten pitchers. The ropes with
the wood and attached pitchers are put over the wheel-well. At one end of the wheel-
axle a second wheel is fixed, and close to it another on an upright axle. The last wheel
the bullock turns; its teeth catch in the teeth of the second (wheel), and thus the wheel
with the pitchers is turned. A trough is set where the water empties from the pitchers
and from this the water is conveyed everywhere.

In Agra, Chandwar, Bayana (all in present-day Uttar Pradesh) and those parts again,
people water with a bucket ... At the well-edge they set up a fork of wood, having a
roller adjusted between the forks, tie a rope to a large bucket, put the rope over a
roller, and tie its other end to the bullock. One person must drive the bullock, another

empty the bucket.
(15.1) Explain the irrigation technology as observed by the Emperor.
(15.2) What was the necessity of irrigation ?

(15.3) Explain any three factors which are responsible for the expansion of

agriculture in India.



16. F=fafEa sgor =i ufen 3k 35 = f&u 7w o=t & 3w fofe

TTHIOT &34 i 3 Tea=
1857 T foIfeer T gRT IeT W 3R L & 915 fGoedl o of =+ =41 {ohar, Sqeh
U UG IR AT MieTs 39 Ueh ohid @

T I WIS A SR P 3 & 1%, fostarsti (feen) 7 @it fomet & wex &
3o f3ar | S Hew W et 3¢ e fea AL | g 9 a9 fe O SRRt e | @iedr 9k
T IR D & S JHYH a1 Wl | T 5 - 3TTH, oA ol Kol - onft ot fosifean &
ool H A.... | TH VI STHIST qAT GO & 7 A T A o el 1 31 3¢ 74, 3R T
T H qHY 3R Afeed. .. 3 A1 511 & §SFEl Y ol e offt | ¥eX o X SIS Tt
3T SIEIel B IROT & YU ST 3 3Fhel THT Sl AR B & |

(16.1) HSTT MieTe =T &7 2 3 41 o7 fepam & 2 2
(16.2) fsifest 7 faoetl T 2TeRA0T F1 fHaT 2 31 HROT fAraT | 2
(16.3) faoetl @ M = 47 qoia {ohar 31] S8 el IROT off 2 3

Read the following extract carefully and answer the questions that follow :
Escaping to the countryside

This is how the famous poet Mirza Ghalib described what the people of Delhi
did when the British forces occupied the city in 1857 :

Smiting the enemy and driving him before them, the victors (i.e., the British) overran
the city in all directions. All whom they found in the street they cut down ... For two
to three days every road in the city, from the Kashmiri Gate to Chandni Chowk, was a
battlefield. Three gates — the Ajmeri, the Turcoman and the Delhi — were still held by
the rebels ... At the naked spectacle of this vengeful wrath and malevolent hatred the
colour fled from men’s faces, and a vast concourse of men and women ... took to
precipitate flight through these three gates. Seeking the little villages and shrines

outside the city, they drew breath to wait until such time as might favour their return.

(16.1) Who was Mirza Ghalib ? What did he describe ? 2
(16.2) Why did British attack Delhi ? Give two reasons. 2
(16.3) How did the people escape from Delhi and where did they take shelter ? 3
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PART -E
e 799 / Map Question

17. (17.1) TR % T T TSI Y@T-AHTes ¥ Hefeiad o Suge et 9 g9y qen
3ok M fefay - 1x2=2
(F) ST — Al & STe Ueh &3
(@) e — 1857 % fasie &1 F5

(17.2) qRA & [T T 3ET IeHITdeh T@1-9Hras W {aehad g8 ¥l & A, B 3R C
 fSEma T € | 3% TeE 99T SHe Wel A Wik e Ware W fafEr | 1x3=3

(17.1)  On the given outline political map of India locate and label the following with
appropriate symbols : 2
(a) Ajmer, a territory under Mughals.
(b) Gwalior, a centre of the Revolt of 1857.

(17.2)  On the same map three places related to the mature Harappan sites has been
marked as A, B, C. Identify them and write their names correctly on the lines

drawn near them. 3

AT : e 7 Foer gheaTtaa aanterdt & e uv 9@ 17 $ H W E
(17.1) el & 37l fohdlt U 8 T oo HiTY |
(17.2) 7T 9=91 9 [l T 1857 & Tosie o o o1 A i@y |
(17.3) TF=I A9 forehioa 38w Tl 3l oo Sy | 1+1+3=5

Note : The following questions are for the visually impaired candidates only in lieu of
Q. No. 17.

(17.1) Mention any one territory under the Mughals.
(17.2) Name any one centre of the Revolt of 1857 from Madhya Pradesh.

(17.3) Mention any three mature Harappan sites. 1+41+3=5
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Map for Q. No. 17
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